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1. Study of the structure of an organism called (A) Physiology (B)
Anatomy (C) Pharmacology (D) Pathology (E) Others
2. Groups of cells with a common structure and function called (A)
Tissue (B) Organ (C) Specific tissue (D) System (E) Others
3. Which tissue of blood is? (A) Epithelial tissue (B) Connective tissue
(C) Muscular tissue (D) Circulatory tissue (E) Others
4. Which cell secrets collagen to form the cartilage? (A) Chondrocyte (B)
Osteoblast (C) Fibroblast (D) Macrophages
5. Which is the major fuel molecule for cells, and is an important aspect
of homeostasis. (A) Glucose (B) Amino acid (C) bFatty acid (D)
Fructose (E) Galactose
6. Which hormone can promote the breakdown of glycogen and the
release of glucdse into the blood? (A) Insulin (B) Glucagon ©
Growth hormone (D) Estrogen (E) Others
7. IF a person is in the condition of undernourishment, several biological
phenomenon will occur except (A) Stored glycogen and fat will be
used up (B) Proteins will be broken down (C) Muscle size will be
increased (D) Brain will be protein-deficient (E) Others
8. Which is not an essential amino acid in adult human? (A) Tryptophan
(B) Methionine (C) Leucine (D) Lysine (E) Histidine
9. Which is a deposit feeder? (A) mosquito (B) cat (C) earthworm (D)
Whale
10.Pepsin is an enzyme for protein hydrolysis in stomach. Which is not
correct for action of pepsin? (A) The inactive form is pepsinogen (B)
Pepsin can work in acid condition (C) HCI secreted by parietal cell
converts pepsinogen to pepsin (D) A negative-feedback in the
conversion of pepsinogen to pepsin in stomach (E) Others
11.Which is not correct for circulatory system? (A) Squid is closed
circulatory system (B) One atrium and one ventricle in fish heart (C)
- Amphibians have two atria and one ventricle for pulmocutaneous and
systemic circulations (D) The ventricle in amphibians is O2-rich blood
(E) Crocodilians and birds have two atria and two ventricle.
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12.Which is not correct for cardiac cycle? (A) Systole is contraction and
diastole is relaxation phase (B) One complete cardiac cycle takes 0.8
sec (C) The period of atria systole is 0.4 sec. (D) The period of
ventricle systole is 0.3 sec. (D) Others.

13. Which is not correct for the process of breathing? (A) The alternate
inhalation and exhalation of air (B) Human ventilate by positive
pressure breathing (C) The rib muscles and diaphragm relax in
exhalation (D) The total surface of alveoli in humans is about 100 m?
(E) Lung volume increases as a result of contraction of rib muscles

|

i and diaphragm . ~

| » 14.Which cell does not attack microorganisms but destroy virus-infected
body cells or abnormal cancerous cells? (A) NK cells (B) Eosinophils
(C) Monocytes (D) Macrophages (E) Mast cells

15.Which is not correct for inflammatory responses? (A) Damaged cells
or bacteria release chemical signals (B) capillaries to dilate to become
more permeable (C) Reduced local blood supply (D) Appearance of
swelling, redness, and heat (E) Others

16.Which is not correct for HIV infection? (A) Decline in helper T cells
(B) Causes AIDS (C) HIV’s genome is RNA and reverse transcribed
to DNA in cells (D) Extensive loss of humoral and cell-mediated
immunity (E) Others

17.Which is not correct for the physiological functions of nitric oxide? (A)
As a neurotransmitter (B) Causes vasorelaxation (C) Secreted by
WBC to kill invaders (D) An inflammatory molecule (E) Others

18.Which hormone involves in the cause of gigantism? (A) Growth
hormone (B) Oxytocin (C) ADH (D) Prolactin (E) ACTH

19.Which is not correct about the membrane potential of neurons? (A)
Resting potential of neuron is —70 mV. (B) Potassium channels are
opened and sodium channel is closed in rest. (C) Potassium ion is
more concentrated outside the cells than inside. (D) Sodium-potassium
‘pumps help maintaining the resting potential of membrane. (E) Action
potential is induced primary by sodium channels open and potassium

channels are closed.
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20.Which is not correct about the nervous systems? (A) Na+-K+ pump
transports 2Na+ outside and 3K+ inside. (B) Motor output is the
conduction of signals form integration center to effectors. (C) Na+ and
Cl- are major existing in extracellular fluid. (D) PNS involved sensory
input and motor output. (E) CNS involved brain and spinal cord.

21.Which is not correct in glucose homeostasis? (A) Glucose homeostasis
is regulated by insulin and glucagon (B) Insulin is produced by
cells and glucagon is produced by  cells in pancreas. (C) Rising
blood glucose level induced insulin release and glycogen synthesis. (D)
Declining blood glucose level induced glucagons production and
glycogen breaks down. (E) Both insulin and glucagons are
antagdnists.

22.Which hormone is not produced in pituitary gland? (A) Oxytocin. (B)
Prolactin. (C) FSH. (D) PTH. (E) ACTH

23.Which is incorrect for reproduction? (A) In asexual reproduction, no
fusion of sperm and egg and gene all come from one parent (B) In
sexual reproduction, fusion of diploid gametes in the formation of
offspring (C) Ovum is a female nonmotile gamete (D) Sexual
reproduction increases genetic variation among offspring (E) Others

24.Which is not a type of asexual reproduction? (A) Budding (B)
Fragmentation (C) Gemmules (D) Fission (E) Fertilization

25.An individual reverses its sex during its lifetime called sequential
hermaphroditsm. What name we call an individual under female first
sequential hermaphroditsm? (A) Protogynous (B) Protozoa (C)
Protandrous (D) Postmale (E) Postfemale
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1. A cluster of nerve cell bodies within the PNS called 1

2. Glia cells are important in supporting the nervous system. Please write
down 2 types of glia cells in CNS 2 ) 3

3. The resting potential of membrane is ~70 mV. If the membrane
potential becomes more negative than —70 mV, this condition is called
4 . In contrast, the membrane potential becomes less negative
than =70 mV called___35 .

4, Please write down 2 ions which play important roles in producmg
action potential in neuron___ 6 , 7

5. The impulse moves faster in myelinated neurons than that in
unmyelinated neurons, Please describe the type of conduction in
myelinated neuron 8 conduction.

6. Please write down 2 amino acids with inhibitory activity on neuronal

transmission. __9 , 10
7. Chemical signals released by one organism especial female to
influence the behavior of other individuals of the same species called

11
8.The external components of the reproductive system in human male are

12, 13___. FEjaculation is to propel sperms from the __14
tothe_ 15 . '
9. Please describe three phases of menstrual cycles__16 , 17 __, 18

10. There are five hormones in the menstrual and ovarian cycles
including gonadotropin, follicle stimulating hormone, luteinizing
hormone, 19 , 20 .

11. Follicle stimulating hormone, parathyroid hormone, glucagons,
growth factor, and calcitonin are important hormones in body. Please

tell me which is a glycoprotein. 21

12. Please provide two examples of negative feedback reaction in body
22 ,_23 .

13. Please describe the nitrogenous waste in fish__ 24

14. There is no net movement of water between two solutions, we call

these two solutions are 25
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15. Marine sharks reserve high concentrations of __26__ and___ 27 in
body fluids to lead to an osmolarity slightly higher than sea water.

16. Which hormone is important in regulating water balance and
produced in hypothalamus and stored in and released from the
pituitary gland? _28

17.RAAS is a complex circuit in homeostasis. A drop in blood pressure
will trigger a release of renin to elevate the blood pressure. Would you
write down two hormones will reduce the release of rennin in face of
rising blood pressure. 29 ,__30 .

18. Please write down two kinds of blood cells with class Il MHC
molecules in membrane. __31 , _ 32

19. There are five classes of immunoglobulins have been identified.
Among them, which is the first circulating antibody in response to an

antigen initially. 33
20. Rh factor can cause mother-fetus problems. Please write down the

type of antibody induced by Rh factor. 34
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